Homework Answers for Week 2 (Summer Term) 

Arithmetic:
[image: A picture containing calendar

Description automatically generated]
Geometry:
[image: A picture containing text, crossword puzzle

Description automatically generated]  [image: A picture containing text

Description automatically generated]




Number…:    
[image: Diagram, text

Description automatically generated with medium confidence]

Grammar:
  [image: Text

Description automatically generated with low confidence]  [image: Text, letter

Description automatically generated]



Spelling:
[image: A picture containing calendar

Description automatically generated]
Punctuation:

[image: Text

Description automatically generated]
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image2.jpg
Pages 29 to 33 — Perimeter and Area

1) 16 cm (1 mark)
2) 18cm (3 cm+6cm+3cm+6cm) (1 mark)

3) 24.8cm (6.2 cm x 4) (1 mark)

4) 19 cm? (1 mark)
5)  Any shape that contains exactly 15 whole squares
(including combinations of half-squares).

Es[ T e

(1 mark)
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